USAGES OF 3D CRISS CROSS

A lecture given on
31 January 1962

Thank you.

And this is 31 Jan. 62. I'm going to talk to you today about some peculiar usages of 3D
Criss Cross. The material I am giving you is at the moment under test, and so on. But you
have a right to know about it. And this will ju — also give you a clue while I am — why I'm
being so utterly beastly on the subject of differentiation — so beastly about it.

If you can't differentiate, you can't do 3D Criss Cross, and I know you can differentiate
and do 3D Criss Cross, and if you don't know it, why, catch up.

The bulk of the older auditors that have been on course longer are doing it beautifully.
No complaints whatsoever. Gorgeous. But those that are on the middle grade right now, aah,
ooph, ugh! Awful. Just horrible.

There's too much “I tried but I goofed,” see? All I want is “do,” you see? And if you
equate “tried” plus “goof,” you don't equal “do,” you see? There's in fact an old gag, you
know, in Scientology, about try. You know, if you just keep trying, of course, you never reach
it.

Now, I've been studying this, and 3D Criss Cross has a great future. And it has a great
future in your auditing, let me tell you. And there are only some few basic skills.

And the basic skills are: Get the rudiments in. Know how to read a meter so as to get
the rudiments in. You needn't write these down because I keep telling you, you know. And be
able to sec check somebody so that you don't miss any withholds anyplace. And be able to do
the type of assessment that goes with a Problems Intensive — you know, that's just, run down a
list and see which falls the most. And then there's assessment. And the whole field of
assessment, of course, consists of those steps which you are doing for 3D Criss Cross. And
this is a separate skill.

A person has to know all these other things before they can even attempt this other.
But right away, because of the demands on the auditor, the precision of the process just shines
up every missing TR. You might have gotten away, you see — in Sec Checking, you might
have gotten away with smoking a cigar and blowing smoke in the pc's face in lieu of TR 2; or
something like that. You might have gotten away with these little flubs, but not, not on a Class
IIT skill. You just don't get away with it. It just — the auditing just doesn't work, that is all.
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And it puts the burden on the auditor's skill. That is where the burden lies. The burden
actually no longer lies on whether the technology works.

Now, more and more we have been moving into this area of less and less question
about technology which, of course, makes us look around and find out where is the Q factor.
And the Q factor is in the application of it. And that is why there is a Saint Hill Briefing
Course.

And when that fact emerged, that the auditor was not catching up with the technology,
of course, it caused a total review of auditing as it was done all around the world, and we
found it wasn't good enough. It wasn't good enough to get the total result. Hence, the Saint
Hill Briefing Course. You make me make snide remarks like “Auditors aren't good enough.”
Actually, I have a lot of faith in auditors in general.

Auditors are good enough in their hearts. I want them to demonstrate it in the session.

Now, this is very germane to the material I'm about to give you. Now, the material will
work for you or it won't. I mean, there's no grays in here. I mean, it just goes from dark black
to brilliant white with no gray in between. The material will work for you or it doesn't.

And whether the material works for you has nothing to do with intuition or insight. It
just has to do with TRs, running an E-Meter and keeping the rudiments in and doing the
earlier skills well. And if a person moves up into Class IIb and is still ragged on some of his
TRs — bam! — it shows up on 3D Criss Cross like somebody lighting tar barrels and throwing
off rockets.

Now, he might have been able to sit there, and — he might have been able to sit there,
you see, and do Sec Checks and do nicely and do marvelously and look very good, and
everybody thought he was doing fine, and everybody thought it was all smooth, and
everybody thought it was. And then you move into Class III and head-on into 3D Criss Cross.
And what happens? See?

It — now you have a technology which demonstrates conclusively whether or not the
auditor can audit, see? And if the auditor can audit — just do these various things, the TRs and
keep the rudiments in, and do his proper address to just the technology of auditing. I mean, it
isn't anything esoteric, you see? And if he hasn't got all of those very, very good, 3D Criss
Cross — poom — doesn't work.

He sits down, he audits the pc, pc wonders why you're differentiating the list. This is
one of the commonest remarks the pc makes: “Why are we wasting time differentiating?”
That is a common remark. You just wait for that one. See, well, why are we differentiating?
Well, why are we doing 3D Criss Cross, see? I mean, it obviously isn't working if people are
busy asking questions of “Why are we doing it?”
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And it goes straight back to nothing in the pc's case that is wrong. 3D Criss Cross will
audit them all the way to the bottom. The lowest patient in the sanitarium, man — as long as he
will talk to you, even gibberingly amongst his monkey squeaks, you can do 3D Criss Cross on
him. And you can even go below that and do it on a psychiatrist.

Now, this also goes all the way up to the top, and this thing has burst in upon us, and I
haven't given you any top billing for 3D Criss Cross. I've just been waiting — letting you find
it out. Well, you found it out. It works. And it works like mad. Well, all right.

Now, for whom does it work? It works for the trained auditor — not for the
supersensitive auditor, not for the intuitive auditor, not for the auditor who knows more than
the E-Meter, you see, none of those things. That has nothing to do with it. We're out of that
because it just takes a good, clean job of auditing, that's all.

A person can do his TRs — pc makes an origin — origination, auditor handles the
origination, bang! List goes null, auditor knows the rudiments are out, puts the rudiments in
again, bang! He's back into session. You know, I mean, it's just bingety-bingety-bing But
everything's got to be working

This is no process to do — this is no process to do at all — if the auditor is still worried
about whether the sensitivity knob should be moved before the tone arm. See, if this is still a
big problem to the auditor, you see, he had no business doing 3D Criss Cross, see. He has to
be able to integrate these tools into one package of action. That's what he has to be able to do.
He actually has to be able to do them all at once, perfectly. Sufficiently so that he never has to
spend any time worrying about whether he's doing it right.

All right. Then of course he's auditing the pc. He's not worrying about whether or not
he's got his fundamentals straight. So that's the time that 3D Criss Cross works.

Now, there's no grays. It doesn't work slightly. It works very well if audited, or it
doesn't work. You could make some junior process out of this whereby it could be done
indifferently, and you could find a 3D package, and you could audit it with a repetitive
process, and so forth. But it's something on the order of taking a jet plane and using the thing
to keep the rain off the motor parts at the edge of the hangar, you know? Thuh just thuhh.

Now, some of the uses of this is what I want to talk to you about, not berate you about
your auditing, because by and large, I think you're all doing well. Much better than should be
expected in some cases, of course.

But just raise your sights. The final test on this sort of thing — it's the easiest thing in
the world to classify a Class III Auditor. Just look at his last half dozen session reports on 3D
Criss Cross. Was the pc flying? The guy can audit. Pc wasn't flying? Nah, he got a lot to learn.
I mean that — it's no longer “What is wrong with this pc that this pc is not functioning” you

see? That's not the question you ask.
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You just say well, Class III, pc was fine. All right. Fine.

Class II is a much rougher examination than Class III, from that basis. I mean, much
rougher on the standpoint of the Examiner. How do you establish whether or not a person can
do that. Well, yes, he's cleared up several Sec Check questions. Yes, his rudiments are in. Yes,

he can do these various things.

Well, we can examine that, and that's not hard to examine, but it is much more difficult
to examine a Class II than a Class 111, because a Class III, practically all you have to do is
open up the case folders of the cases the fellow is working on: The pc is flying, he's okay. Pc
isn't flying, he isn't okay. Do I make my point here? It's just an open-and-closed proposition.

Now, everything I'm going to tell you about the experimental use of 3D Criss Cross is
modified by these very things I have given you here at the introduction.

Experimental use of 3D Criss Cross includes curing up anything. Just anything I don't
care whether a guy's got lumbosis or what. It could cure it. Experimentally, that is an asserted
fact.

Any chronic somatic, any circuit, any hidden standard, any other anything that
anybody has run into on cases apparently is curable by 3D Criss Cross worked right and used
right. So you're looking at the Kohinoor diamond, in actual fact. And I wouldn't be so mean —
because I'm seldom bestial about these things; I'm usually very kind, very kindhearted, mostly
— except where I can see where you could go and you ain't going there, see? And then right
away, why, I start riding at the flanks and pushing And you right now, of course, as you well
realize, are being pushed.

You're not being pushed. You're being shoved hard. You understand? And of course,
you're only being shoved up to a realization of your own skill.

Now, here we go. How would you cure a person who had a circuit that accused him all
the time of being a beast? Now, let's just take that as a hypothetical case. This is neurosis ne
plus ultra. Neurosis Freudosis.

Well, you ask the guy what he's got, and the guy has got a voice which tells him he's a
beast. And this is the only thing he will say he has got and this is worrying him. In fact, he is
frantic about it. In fact, even as he tells you about it, the voice tells him he is a beast to tell
you about it, don't you see? All right.

Now, what do we do? We take any statement that the pc has even vaguely made, and
we find “Who or what would oppose (statement)?”” — see, that circuit; whatever he's described
it as, you see? And we make a “Who or what would oppose?” list. And then we just go
through the various steps of 3D Criss Cross with that list, and we come up at the other end
with some item that is sticking.
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All right. Voila! We don't do a thing with it. That i1s what is interesting In fact, you'd
better not do anything with it, because that item is unrunnable. Now, let's get into this more
neatly here.

The condition which he has told you about — I don't care what the condition is.
Mother-in-law stays with him too long every year. All right. You want to solve his present
time problem about this, you see. You just do the same thing. It's a statement of what the pc
says 1s wrong with him. You know, pc is always telling you something is wrong with him, and
sometimes you look hard, you'll find the pc knows something is wrong with him but hasn't
told you. The various methods of discovering this I will cover in a moment. But at the present
moment, let's just say this condition.

All right. Now, mark my words now. This condition is not auditable with safety. You
cannot safely audit that condition, because it is too far from the Goals Problem Mass. It is
probably some kind of a lock valence, and if you ran it directly, you are liable to beef up the
whole Prehav Scale. And the pc starts going around wog-glog-zeboog SEN is liable to turn on
with considerable PN.

So you don't want to audit that condition. Now, underscore that and mark that well,
and flap your ears on it because that's really important. Don't audit the condition the pc told

you about.

I'll give you a little back history on this. Along about 1954, I started telling you don't
audit the pc's chronic somatics, and all that sort of thing. Lay off of this stuff.

Now, the basic background music to why I kept saying this is because it often enough
didn't do the pc any good. That was often enough. But in some of the cases it practically spun
the pc in. And there was a bug factor here which made it necessary to lay off of these things.

All right. I wasn't aware of the fact that everybody was spinning in all over the place,
but I knew people were not being successful with this, and it was no business for us to be in at
that time. Now, I'm telling you, it would very easily be in this business because these are the
bugs associated with it.

Why? It is a lock valence on the Goals Problem Mass. The condition is just probably
some lousy old lock valence that hangs at the — that hangs on a lock valence that hangs on a

lock valence, and the pc is aware of it.

* Now, that the pc is aware of it tells you, one, that it will not blow and that isn't what's
wrong with the pc. He's got this circuit in full bloom, you see, or he's got these ulcers in full
bloom, or he's got this mother-in-law in full bloom. It doesn't matter what he's got in full
bloom, he knows what is wrong with it, and it is still wrong. Now, that is your main test. If the
pc “knows what is wrong with him” (quote, unquote) and it is still wrong with him, then
obviously what he knows is wrong with him is the wrong answer. Isn't that pretty obvious?
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Because if it was right, if he knew what was wrong with him, it wouldn't be wrong with him.
Why? It would as-is.

And if it doesn't as-is, then he doesn't know what's wrong with him, you see? And that
— you — probably, even in your own case in running down the line, sooner or later, you
collided with this interesting point, and you say, “Oh, I'd forgotten that,” you know? That was
out of view.

Up to that time, you knew exactly what was wrong with you. You knew it was your
upbringing or your father coming home and bringing you lollipops that gave you bad teeth or
something like that, and you ran into something, and it didn't have anything much to do with
that. It was just vaguely associated with, and you ran into the real reason, and the condition
went boom or something like this, and you felt better about it.

All right. So remember that the condition the pc tells you about or that you ferret out
of the pc, if in the process of ferreting out of the pc, doesn't disappear, of course, is a
description that is inaccurate. Otherwise, the moment it was described, it'd go whoow, see.
And that would be the end of it.

But it doesn't, and I wish you to note this very carefully on pcs. There are two
conditions. One, the pc tells you about this problem or difficulty, and it goes whoow, and you
can't find it anymore on the E-Meter. And the other one, he tells you about this problem or
difficulty, and you have to audit it. You see these? You see these two different conditions?

Well, now the first one that blew on two-way comm was factual. That was what was
wrong with him. And the second, it isn't — we're not saying he isn't suffering from this, but his
description of what it is, perforce must be inaccurate, because it doesn't blow. Now, it is just

as one, two as that, you see?
“Well,” he says, “I got a terrible headache.”
And you say, “All right.” And you ask him what's wrong with him.
“I got a terrible headache.”
You say, “All right. Good. Where does it hurt?”
And he says, “Well, it hurts around here.”
Now you have to audit it.

Well, now, how come it hurts after he told you about it? It's probably because he didn't
have a headache. You ever stop and think about that? See? There's something wrong here.

He's either got a backache or his head is hot or something, but he has not made an
accurate description of his condition. Of course, that he did describe it, he only described it, of
course, to the depth that he could observe it. And he couldn't observe it deeply enough to as-is
it so therefore that isn't what's wrong with him.
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It goes deeper than that. So you can say of any condition that does not blow on two-
way comm that it is out of the pc's view. And that would be its first — the first thing that you
could say about it.

So you have to resort to processes or activities which put it in the pc's view at which
moment it would go bloom, and that would be the end of it, see? So it either blows or you
have to audit it.

Now, if you have to audit it, it must — the auditing must disclose new data. And that is
why you instinctively go round the bend halfway when a pc sits there for twelve consecutive
sessions and has no single, slightest cognition of any kind. He never finds out anything. He
never realizes anything He never finds anything new. He never gets anyplace in his
knowledge of life and the world.

Well, that auditing must be up against a dead end, mustn't it? There's something wrong
with it. Because, you see, if he's not going to disclose any new data, then what he has said is
wrong with him that didn't blow, of course, couldn't possibly be blowing. It'd have to have
new data come up to blow it. Otherwise, it'd just blow on two-way comm, don't you see?

And if it didn't blow on two-way comm, then it must be more deep-seated than that,
and it requires new cognitions, new information, new knowledge, new penetration, new
insight, and then it would blow. And if he's not getting those things, of course, his case is
going nowhere.

So sitting down and auditing somebody endlessly — and they never have a cognition,
and they never have a new thought, and they never recognize anything.

John Sanborn, back about 54, something like that, made a very interesting remark
about this. He said, “Well,” he said — he was auditing some pc — and he said, “Well, I'm
suspicious of this fellow. Never once has he looked up and said, 'What do you know,' you
know? Never has said that. He just never, never said 'What do you know,' you know, in all the
time I've been auditing him.” He's right, too. Case never recovered from anything.

It was an awfully good description of what a pc might be expected to do — sooner or
later, look up and say, “What do you know,” you know? And a pc who never says “What do
you know,” never gives any indication that anything has occurred of any kind whatsoever that
might be brand-brassy-new to him — uh-uh, uh-uh, uh-uh, because, of course, no new data's
being recovered.

All right. Let's go to the next thing. What is the most buried thing about you? About
you? Come on, what is the most buried thing about you? What is the most buried thing about
you? What is the most hidden thing about you? You? Aside from you, of course. What is it?

Well, if you can answer this question perfectly and rapidly without the slightest comm
lag, why, you'll have disproved this whole theory.
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What was your full name and street address in your last life? What was your full name
and street address in the life just before that? What was your full name and street address in
the life just before that? Now, you have possibly seen pictures of your last life. You possibly,
if you were lucky enough to have your last li — unlucky enough to have your last life still
kicking around into this life on the newsstands or something like this, of course, you're aware
of what your name was. But you've seen some pictures of this sort of thing, and you've seen
scraps of this and that and their surmises.

But sitting here in this lifetime, I can ask you this question. What's your name, see.
And you'll sing out — bang, bang. You know, there's nothing much to that. Some of you have
a slight comm lag, but . . .

Now, there's the proof of the pudding: that you can recover pieces of track and
engrams. You can recover sequences and circumstances. Well, you can get an engram — the pc
and somebody else is in the bois at dawn very early in the matin, and they have sharp
toothpicks that they are about to insert into each other's vitals, and we get this as an engram,
you see? We get the somatics; we get all kinds of things. We get the twittering of the “boids”
as they twitter in the bois. We even get a death. We may even get a trial afterwards. We get all
sorts of things, but we ask the pc, “What was your opponent's name?”’

You say, “Aah, oh, well, that's a new thought. Um, René. Yeah, René. No, no, no, that

’

was — no, uh — well.... But let me tell you about the birds in the bois.’

Identity or beingness is the most hidden fact about you. Experience — we can find
experience, you see? That's easy. We can find masses and pictures and engrams and somatics
and all that sort of thing. That is easy. We can find flows, bango. Nothing to that, you see?
But what's your name?

So we get beingness as the most hidden factor. And that is why 3D Criss Cross works
like a startled dream. Because you're recovering beingnesses, see. Bangety-bangety-bangety-
bangety-bang. So you're working at the most hidden piece of knowingness there is on the
track which is “Who was you, Mac?” You see?

You notice in crowded areas they solve this. They solve this beingness by always
being the same beingness. Did you ever notice this? That makes everything very simple. All
taxi drivers know this in New York City. To them everyone is Mac. And they have no trouble
with this whatsoever.

Now, you're recovering beingness, is what you're doing And beingness, of course, is
part of the package of experience. And I studied experience a year or two — a couple of years
ago, and so forth, and never got much of anyplace with it because it was — experience is the
doingness of a beingness. You see?
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As long as you run doingnesses and beingnesses, you, of course, will recover
experience. And apparently experience is the easiest thing to recover on the track.

You could always say to a pc, “You ever been drowned?” And the pc starts going
glug, glug, glug, you know. Well, interrupt him at that point and say, “Well, what was your
name then while you were being drowned?”” you know?

He can't tell you, you know. He can tell you that he drowned. He can reexperience the
drowning, but who was he? In fact, it's a big mystery all over the place. 3D Criss Cross in
recovering this, of course, is throwing into view large sections of track. And in that — the basic
game of a pc requires first, a beingness and a doingness and then a havingness — the basic
game or a no havingness — gets into, then, a beingness versus a beingness. And we get the
beingness versus a beingness situation, and these hang up like problems.

Now, a problem is a postulate-counter-postulate, idea-counter-idea, A versus B, and
the reason a problem hangs up and tends to go on forever and floats in time is that it is rather
well balanced. The idea versus the idea. Since you're not given a problem by a little child very
often, who comes up and gives you a gratuitous datum, see? This is not usually a datum of
magnitude to what you've got as a datum, see? So it doesn't hang up. You don't worry about it.
But you run into a friend of yours, and you say, “Those Russians never did get a man into
space,” and your friend says, “Well, they did, too.”

Now, you've got beingnesses of comparable magnitude and it makes a problem, sa-ha.
So you have a fight with your friend about — he says the Russians got somebody into space,
and you say they didn't get anybody into space, and it was all hoax and propaganda. And he
says no, it wasn't; he saw pictures of the moon and all kinds of things. It can be a problem,
see, but what makes it a problem is the A plus B, the identity versus the identity. So you have
to have identities of somewhat comparable magnitude to hang this thing up.

Now, the Goals Problem Mass consists of problems of the magnitude of a game. Big,
big problems. And of course, these problems are resident in identities. And you can audit the
identity out of the Goals Problems Mass, but peculiarly enough, you cannot audit the problem
out of the identity. Ha-haha-ha. Isn't that interesting?

You can't audit the problem out of the identity, but you can audit the identity off the
problem. That's a funny mechanic, but it apparently works that way.

When you start running a pc on Rising Scale — this is dandy, by all means, run Rising
Scale and early processes, and so forth — you're actually merely shifting around slightly the
now-I’'m-supposed-to's of the beingness that the pc is sitting in. And it doesn't shift much. Let
me assure you. Well, it shifts a little. You can get some considerable gains and results.
Enough to keep us going for a long time. I mean, it was all right. We were happy with them at
the time.
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But how about blowing the whole ruddy package, what? How about blowing all the
16,972 problems per minute that this character had, see? Because this beingness in the bank is
posed against another beingness in the bank which keeps it in balance and floats it in time. So
all time is that time, and here it is all locked up in the middle of nowhere. You get this idea?

All right. So now let's get back to the statement of the condition the pc has made. See,
whether it's his mother-in-law's staying with him too long, or he has lumbosis, or it's — he's got
a circuit or something that calls him a beast all the time. We don't care what this thing was.
We say, “Who or what would oppose it?”

Now, we don't run the condition because the condition is probably a fragment of the
beingness that he has not identified. Nor do we audit what we find as the opposition terminal
to the condition. We don't audit the opposition terminal to the condition, but we oppterm that.
And those three steps are necessary:

1) Identify the condition. Get a statement of the condition. Find out what the condition
is. And believe me, that covers an awful bag of tricks, let me comment in passing. There's an
awful bag of tricks attached to finding out from the pc what the condition is.

Number 2, find the opposition beingness. That is to say, you could call it the
opposition terminal, but you find an opposition beingness to the condition.

And then number 3, find the opposition to number 2, and you'll wind up with the
identity of what the condition has — the identity that — the beingness that had the condition.

You go around Robin Hood's barn to find this thing, you see? He's sitting there with
nattering teeth. Let us say, this is his condition. Nattering teeth. And you can't ask him, now,
“Who or what would have nattering teeth?” and really expect, in a large. . . On some cases,
you'll get the answer promptly. Very few. But in — largely no. He's so fixated on these teeth
that are hanging out in space in the bank, you see, that he can't quite....

Now, you say, “Who or what would oppose it?” Well, you've already knocked the
chink out of the hidden suspension of that beingness. You see, for teeth to be suspended in the
bank, there must be a beingness in the bank who has the teeth.

Well, you see, that is suspended in place by something he's never put his attention on
which is an opposition terminal. So you just take that one, and you loosen that one all up. You
take a lot of locks off of it and you loosen it all up, you see.

And then you go on around back and find out what would oppose that, and you get a
beingness.

Now, if you do this very slippily and very well, something weird happens to his
nattering teeth problem. Because now you've identified who and what has the nattering teeth.
And you've also identified who and what would oppose the nattering teeth.
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Now, you've shaken it up. Now, if you've done differentiation very well, You say,
“Aah, oh, well, that's a new thought. Um, René. Yeah, René. No, no, no, that was — no, uh —

)

well.... But let me tell you about the birds in the bois.’ Identity or beingness is the most
hidden fact about you. Experience — we can find experience, you see? That's easy. We can
find masses and pictures and engrams and somatics and all that sort of thing That is easy. We

can find flows, bango. Nothing to that, you see? But what's your name?

So we get beingness as the most hidden factor. And that is why 3D Criss Cross works
like a startled dream. Because you're recovering beingnesses, see. Bangety-bangety-bangety-
bangety-bang So you're working at the most hidden piece of knowingness there is on the track
which is “Who was you, Mac?” You see?

You notice in crowded areas they solve this. They solve this beingness by always
being the same beingness. Did you ever notice this? That makes everything very simple. All
taxi drivers know this in New York City. To them everyone is Mac. And they have no trouble
with this whatsoever.

Now, you're recovering beingness, is what you're doing. And beingness, of course, is
part of the package of experience. And I studied experience a year or two — a couple of years
ago, and so forth, and never got much of anyplace with it because it was — experience is the
doingness of a beingness. You see?

As long as you run doingnesses and beingnesses, you, of course, will recover
experience. And apparently experience is the easiest thing to recover on the track.

You could always say to a pc, “You ever been drowned?” And the pc starts going
glug, glug, glug, you know. Well, interrupt him at that point and say, “Well, what was your
name then while you were being drowned?”” you know?

He can't tell you, you know. He can tell you that he drowned. He can reexperience the
drowning, but who was he? In fact, it's a big mystery all over the place. 3D Criss Cross in
recovering this, of course, is throwing into view large sections of track. And in that — the basic
game of a pc requires first, a beingness and a doingness and then a havingness — the basic
game or a no havingness — gets into, then, a beingness versus a beingness. And we get the
beingness versus a beingness situation, and these hang up like problems.

Now, a problem is a postulate-counter-postulate, idea-counter-idea, A versus B, and
the reason a problem hangs up and tends to go on forever and floats in time is that it is rather
well balanced. The idea versus the idea. Since you're not given a problem by a little child very
often, who comes up and gives you a gratuitous datum, see? This is not usually a datum of
magnitude to what you've got as a datum, see? So it doesn't hang up. You don't worry about it.
But you run into a friend of yours, and you say, “Those Russians never did get a man into
space,” and your friend says, “Well, they did, too”
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Now, you've got beingnesses of comparable magnitude and it makes a problem, /ha-ha.
So you have a fight with your friend about — he says the Russians got somebody into space,
and you say they didn't get anybody into space, and it was all hoax and propaganda. And he
says no, it wasn't; he saw pictures of the moon and all kinds of things. It can be a problem,
see, but what makes it a problem is the A plus B, the identity versus the identity. So you have
to have identities of somewhat comparable magnitude to hang this thing up.

Now, the Goals Problem Mass consists of problems of the magnitude of a game. Big,
big problems. And of course, these problems are resident in identities. And you can audit the
identity out of the Goals Problems Mass, but peculiarly enough, you cannot audit the problem
out of the identity. Ha-haha-ha. Isn't that interesting?

You can't audit the problem out of the identity, but you can audit the identity off the
problem. That's a funny mechanic, but it apparently works that way.

When you start running a pc on Rising Scale — this is dandy, by all means, run Rising
Scale and early processes, and so forth — you're actually merely shifting around slightly the
now-I'm-supposed-to's of the beingness that the pc is sitting in. And it doesn't shift much. Let
me assure you. Well, it shifts a little. You can get some considerable gains and results.
Enough to keep us going for a long time. I mean, it was all right. We were happy with them at
the time.

But how about blowing the whole ruddy package, what? How about blowing all the
16,972 problems per minute that this character had, see? Because this beingness in the bank is
posed against another beingness in the bank which keeps it in balance and floats it in time. So
all time is that time, and here it is all locked up in the middle of nowhere. You get this idea?

All right. So now let's get back to the statement of the condition the pc has made. See,
whether it's his mother-in-law's staying with him too long, or he has lumbosis, or it's — he's got
a circuit or something that calls him a beast all the time. We don't care what this thing was.
We say, “Who or what would oppose it?”

Now, we don't run the condition because the condition is probably a fragment of the
beingness that he has not identified. Nor do we audit what we find as the opposition terminal
to the condition. We don't audit the opposition terminal to the condition, but we oppterm that.
And those three steps are necessary:

1) Identify the condition. Get a statement of the condition. Find out what the condition
is. And believe me, that covers an awful bag of tricks, let me comment in passing There's an
awful bag of tricks attached to finding out from the pc what the condition is.

Number 2, find the opposition beingness. That is to say, you could call it the
opposition terminal, but you find an opposition beingness to the condition.
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And then number 3, find the opposition to number 2, and you'll wind up with the
identity of what the condition has — the identity that — the beingness that had the condition.

You go around Robin Hood's barn to find this thing, you see? He's sitting there with
nattering teeth. Let us say, this is his condition. Nattering teeth. And you can't ask him, now,
“Who or what would have nattering teeth?” and really expect, in a large. .. On some cases,
you'll get the answer promptly. Very few. But in — largely no. He's so fixated on these teeth
that are hanging out in space in the bank, you see, that he can't quite....

Now, you say, “Who or what would oppose it?” Well, you've already knocked the
chink out of the hidden suspension of that beingness. You see, for teeth to be suspended in the
bank, there must be a beingness in the bank who has the teeth.

Well, you see, that is suspended in place by something he's never put his attention on
which is an opposition terminal. So you just take that one, and you loosen that one all up. You
take a lot of locks off of it and you loosen it all up, you see.

And then you go on around back and find out what would oppose that, and you get a
beingness.

Now, if you do this very slippily and very well, something weird happens to his
nattering teeth problem. Because now you've identified who and what has the nattering teeth.
And you've also identified who and what would oppose the nattering teeth.

Now, you've shaken it up. Now, if you've done differentiation very well, you've blown
it to glory. And if you're lucky, you just blew it up on step 2. And if you're — you don't need
quite 80 much luck to blow it up on step 3. But you've certainly got something now that is
safe to audit.

You see, supposing these nattering teeth, he thinks at first glance, would belong to
some unproved part of a Goals Problem Mass. And let's say that if we ran mother-in-law —
this would be so far from any part of the Goals Problem Mass and yet so closely pinned to it
that we'd beef up the whole Prehav Scale. See, that would be a risky thing to do. No, let's
prove it out. Let's go around Robin Hood's barn and prove the thing out.

Let's take the condition, find the opposition to the condition, and the